HW4	Comment by Author: Overall score: 24/40 

1a. Methods: Proportional hazards regression with robust SE was used to evaluate an association between the instantaneous risk of all-cause mortality over the entire period of observation and serum LDL (used as a continuous variable). The hazard ratio and 95% CI was computed using Cox proportional 	Comment by Author: Q1 Total: 7/10	Comment by Author: -2
No descriptive statistics  
hazards regression with the Huber-White sandwich estimator of the standard errors.	Comment by Author: -1 
Additional methods: 
-Two-sided p-values, calculated from Cox PH regression
-Omission of subjects missing data
-Use of Wald statistics to compute CI and p-value (within Cox regression) 
Results: Using proportional hazards regression, we estimate that for each 1 mg/dL increase in serum LDL, the risk of all-cause mortality decreases by 0.74%. This estimate is statistically significant (p=0.009). The 95% confidence interval suggests that this observation would not be unusual if a group with 1 mg/dL higher serum LDL had a risk of all-cause mortality that was between 1.29% and 0.18% lower than the group with the lower serum LDL.	Comment by Author: Full credit for inference. 
-Next time, keep 3 significant digits (0.738%). 
-Include an intro sentence specifying sample size, etc. (Please see key.) 

1b. See part 4

2a. Methods: Proportional hazards regression with robust SE was used to evaluate an association between the instantaneous risk of all-cause mortality over the entire period of observation and serum LDL (used as a continuous logarithmically transformed variable). The hazard ratio and 95% CI was computed using Cox proportional hazards regression with the Huber-White sandwich estimator of the standard errors.	Comment by Author: Q2 Total: 8/10
-2 No descriptive statistiscs 	Comment by Author: Full credit – but again, please include Wald statistics, p-value calculation, and omission of subjects with missing LDL data. 
Results: Using proportional hazards regression, we estimate that for each doubling in serum LDL, the risk of all-cause mortality is 0.56 times the risk in the group with higher LDL compared to the group with lower LDL. This estimate is statistically significant (p<0.001). The 95% confidence interval suggests that this observation would not be unusual if a group with serum LDL twice as high as another group might have a risk of all-cause mortality that was between 0.43 and 0.74 times that of a group with the lower LDL.	Comment by Author: Full credit. Perhaps add a concluding interpretation sentence.  

2b. See part 4

3a. Methods: Proportional hazards regression with robust SE was used to evaluate an association between the instantaneous risk of all-cause mortality over the entire period of observation and serum LDL (modeled quadratically). Pearson’s chi square test was used to test for association and nonlinear trend with significance at 0.05.	Comment by Author: Q3 Total: 6/10 
-2 No descriptive statistics	Comment by Author: Methods details? (-2) 
-Wald statistics
-Including linear and squared term
-Testing both coefficients together for overall association
-Testing coefficient for squared term to test linearity
Results: We found evidence of a significant association between serum LDL and all-cause mortality (p=0.0005). We did not find evidence of a nonlinear association between all cause-mortality and serum LDL modeled quadratically (p=0.055). However, we cannot be sure that the relationship is linear, as the relationship could be nonlinear in a way that a quadratic function could not detect. 	Comment by Author: Full credit for inference. Could refer to Figure 2 for more description. 

3b. See part 4

4. 	Comment by Author: Q4 Total: 3/10
[image: ]

The overall shape of the fitted values is similar between the three fitted hazard ratios. The fitted values are similar when the hazard ratios are near 1. The further away from 1 the HR is, the larger the difference between logarithmically and quadratically modeled LDL HRs are relative to the continuous LDL HR. 	Comment by Author: Your plot should instead compare relative hazard across LDL values (since various transformations of LDL have been our POI for this assignment). 

The comparisons intended for this question depend on that plot being created. 

You created all the correct variables and included lowess curves (+3).  
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